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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500

3000

| —¢—  EcFzExp
| —>¢— ECdef
—>— water_ec

F000000000000000000000000000000000000UNONONK

2500

2000

XOM

1500

1000

—-

Warning: col

[’ EcFgro’,

"EcPltng’|] is migsing

500

25

50

100

125 150 175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS ERR

07:35 288 150.0 28.875 FA| FHA@07:35 KRHIEF (KAL)
08:10 288 150.0 28.875 FB| FiHA@08:10 KEIEF (KAEEE)
08:45 288 150.0 28. 875 RB| FiHA@08:45 KEFZF (FKAFZHE)
09:40 288 150. 0 28.875 PA| FMHA@09:40 REFEF (CRAMKZER)
10:25 288 150.0 28.875 FB| FiHH@10:25 KEIEF (KAEHE)
11:05 288 150.0 28. 875 FB| FiHAe11:05 KREFIEF (KAFHE)
11:40 288 150.0 28. 875 FA| FiHR@11:40 RHEF CKRAEZRS)
12:15 288 150.0 28.875 FA| FHA@12:15 KEIEF (KRATERESS)
12:50 288 150.0 28. 875 FA| TiHA@12:50 KRHEF CRAKZRS)
13:25 288 150.0 28. 875 M| FiHAe13:25 KEEF (RAFRSE)
14:00 288 150.0 28.875 M| FiHRe14:00 KREIEF (REERE)
14:35 288 150.0 28. 875 M| FiHRe14:35 KEEF (RAFRSE)
15:15 288 150.0 28.875 1|  FHfe15:15 REAIEF (REAEZRER)
16:00 288 150. 0 28. 875 M| FiHAe16:00 KREIEF (REAERSE)
16:55 288 150.0 28. 875 M| FiHRe16:55 KENFEF (FRAFEESE)
24t 4320.0 (15%%) 2250.0 3 WF%EC: 2080.0, PH: 5.6

HEEIKECE (2087.0 vs 4433.0) i35




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=59 (2025-05-31)

1700

161

40

VI, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

00

1814

00

- 2000

- 1000

TargetEC=2600. 0,  TargetSetEC=2080.

TargetPH=6. 5, TargetSetPH=5.6

]

I
300 - :
+

200 -

100 A

i
]
I
I
I
I

p—— @ & L4 & —

s
1.0 0 1 2 3 4 5

ByWoFv @D39 05:08: ET|1816 Fg=2250.0 Ro=432.0

LITL

10

11

12

3000

- 2000

- 1000

—_
($;]

17

21

22

23

0gl P W [ A W [ ]|

FA

A

A

FA

FA

A

A

FA

FA

FA

A

0.6 1

0.4+

0.2~

0.0

800 A
600
400 -

200 -

Warping:
odA—A__ AR

', "PPFD_obs’] is missing

25 A

20 -

15

" "To_obs'] is missing

80 -

60

Warning: lcol ['RH_obs’,

"RHo_obs’] is missing

RH

0.0 0.2

0.4

0.6

0.8

1.

0

FRV (ml d-1)

cumET (ml/plant)



hour

100

80

- 60

- 40

§_

“

%

e
6\
%
7
e
-
%,

o

\ R
N N
4
Q\z\ %7\

2
>
L

&

§

%,
&

W ’@(26_.?
%

%

%



P3-10

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 283 150.0 28. 875 FE| 1BRi%@06:35 Bz (kABERSE)
07:20 283 150.0 28. 875 FH| 1BRi%@07:20 Bzh (KRABERSE)
08:20 283 150.0 28.875 FE| 1BRi%@08:20 B (FkAfEREE)
09:30 283 150.0 28. 875 FE| 1BRi%@09:30 Bz (kBERE)
10:30 283 150.0 28. 875 FA| {Ri&@10:30 Bzl (GkAEEEE)
11:20 283 150.0 28.875 FA| 1Ri%@11:20 Bzh (kAERSE)
12:00 283 150.0 28. 875 FH| 1Ri%@12:00 Bz (kAERSE)
12:40 283 150.0 28. 875 FA| {Ri&e@12:40 Bz CGRAEEEE)
13:20 283 150.0 28. 875 FH| 1Ri%@13:20 B3h (KAERSE)
14:15 283 150.0 28. 875 FH| 1Bige14:15 Bzh (GRAEEEE)
15:25 283 150.0 28. 875 FH| 1Bi&e15:25 Bzh (RAEREE)
16:50 283 150.0 28.875 FH| 1Ri%@16:50 Bzh (kAERESE)
23t 3396.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.6

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEIHECE (2220.0 vs 4753.0) 45

150.0), FAEEHT—@ % XA HS
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m=795,m FV0=0

44 -

43 A

42

41 -

—0—

M_W

795

800 805

m=690, FV0=0

44

43 -

42

41 -

40 -

—o—

M_w

T
690

T T
695 700

m=835,m FV0=0

44

43 -

42

41

—o— MW

T
835

840 845




hour

:35
115
:00
140
115
:50
:30

R AR
§§ @(zf% %ﬁ.“ @”3\\
NP g

T

2

>
%,
% S

o
-

5

4
2

§_

100

80

- 60

- 40



P3-10

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:10 283 150.0 28.875 BE| {Ri&e07:10 Bzl (REAEEE)
07:50 283 150.0 28. 875 BE| 1Ri%e07:50 B (RF{EREE)
09:00 283 150.0 28.875 | =| {Ri&@09:00 Bzl (KREERHSE)
09:50 283 150. 0 28.875 | =| {Ri%e09:50 Bzl (REAEHE)
10:35 283 150.0 28.875 | =| {Ri&e10:35 Bz (REAEHE)
11:15 283 150.0 28.875 | =| {Bi&et11:15 Bz (REEESE)
12:00 283 150.0 28.875 (& =| 1Rige12:00 B3h (REAEESE)
12:40 283 150.0 28.875 | =| {Ri&e12:40 Bz (REAEHE)
13:15 283 150.0 28. 875 | Rige13:15 Bal (REAEESE)
13:50 283 150.0 28.875 B 1Rige13:50 Bah (REAEESE)
14:30 283 150.0 28.875 BS| 1Ri%e14:30 B3 (GREMEESE)
15:10 283 150.0 28. 875 Bl Rige15:10 Bal (REEESE)
15:55 283 150.0 28.875 B 1Rige15:55 Bah (REEESE)
17:00 283 150. 0 28.875 FB| {Rige17:00 Bz (GRAFERSE)
21t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEIKECE (2323.0 vs 4747.0) 35

150.0), FAEEHT—@ % XA HS




P3-10_0, Day=57 (2025-05-29)

150 e/ F———1]
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2300 400

100 42100

779 2000
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:10 283 150.0 28.875 el {Ri&e07:10 Bzl (REAEEE)
07:45 283 150.0 28. 875 RS {Ri&e07:45 Bz (REAERE)
08:55 283 150.0 28. 875 BE| {Ri&e08:55 B (REEEE)
09:45 283 150.0 28.875 RS {RRi&e09:45 B (REAEHE)
10:25 283 150.0 28.875 BS| 1Ri%e10:25 Bz (GGREMEESE)
11:00 283 150.0 28. 875 Bl Rige11:00 Bal (REEESE)
11:35 283 150. 0 28. 875 BE| Rige11:35 Ba) (REAEHSE)
12:10 283 150.0 28.875 Bl Rige12:10 Bz (REAERE)
12:45 283 150.0 28. 875 BE| Ri%e12:45 Bz (GREAEREE)
13:20 283 150.0 28. 875 B Ri&e@13:20 Bz (REAERSE)
14:00 283 150.0 28.875 BE| Rige14:00 Bz (REAEHE)
14:40 283 150.0 28. 875 e Rige14:40 Bz (REAERSE)
15:20 283 150.0 28. 875 el Rige15:20 Ba) (REAEESE)
16:05 283 150.0 28.875 el Rige16:05 BHa (REAEHE)
17:05 283 150.0 28. 875 BE| Rige17:05 Bz (REAERSE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

MERRNERE STREAERE (184.0 : 147.0), AEeHF—RZ XA45
ZRIN L PRIERE147.0 ml.
#[ERECZE (2400. 0 vs 4563.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=56 (2025-05-28)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing

838- 2000

- 1000

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=450, FV0=0 m=495, FV0=0 m=535, FV0=0

—&— ME —&— ME —8— ME
25.5 27.5 - 29.5
25.0 27.0 4 29.0 +
24.51 26.5 28.5
247 24.0 -
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 535 540 545
m=590,m FV0=0 m=635,m FV0=0 m=675,m FV0=0 m=710,m FV0=0
—&— ME 30.0 - —— ME —&— ME 30.5 - —&— ME
30. 0
29. 5 ~
29.5 ~ 30. 0 ~
29. 5
29. 0 A
29.0 29.5 ~
29.0 +
28. 5
28. 5 29.0 A
T T T T T T T T T T T T
590 595 600 635 640 645 675 680 685 710 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
30.5 4 —@— ME 30.5 —&— ME —&— ME —— ME
30. 0 + 30.0 4
30. 0 + 30. 0 ~
29.5 29 5 -
29. 5 ~ 29.5 ~
29.0 +
29.0 ~
29.0 A 29.0 A
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30. 0 A 42 -
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30. 0
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:15 283 150.0 28.875 (Z=| 1Ri&e07:15 Bzh (REERESE)
07:50 283 150.0 28.875 |Z=| {Ri&e07:50 Bz (REEHE)
09:00 283 150.0 28.875 | =| {Ri&@09:00 Bz (KREERHSE)
09:45 283 150.0 28.875 (Z=| 1Ri&e09:45 Bzh (GREERESE)
10:25 283 150.0 28.875 | =| {Ri&e10:25 Bz (REAEHE)
11:00 283 150.0 28.875 | =| {Ri&e11:00 Bz (REAEHSE)
11:35 283 150.0 28.875 [ =| 1®i%e11:35 Bzh (REAERESE)
12:10 283 150.0 28.875 | =| {Rige12:10 Bz (REEHE)
12:45 283 150.0 28.875 | =| {Ri&e12:45 Bz (REAEHSE)
13:20 283 150.0 28. 875 FH| 1Ri%@13:20 B3h (RkABERSE)
13:55 283 150.0 28.875 FE| 1BRi%@13:55 B3 (kAERSE)
14:30 283 150.0 28. 875 FA| 1Ri&@14:30 B3 (GRAHEREE)
15:05 283 150.0 28.875 | =| {Ri&e15:05 Bz (REAEHSE)
15:40 283 150.0 28.875 (& =| 1Rige15:40 Bzh (REAEESE)
16:25 283 150.0 28.875 | =| {Ri&e16:25 Bz (REAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

MERRNERE 5STEAERE (184.0 : 144.0), AEeHF—RZ XA45
ZRINPRIERE144.0 ml.
H#ERECE (2393. 0 vs 4303.0) H 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=55 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 0920
100 11700 1800 - 2000
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50 - 1000
40 60
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
( 7}
200 A 30
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I-ul
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1.0 22
n
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
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0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=460, FV0=0 m=495, FV0=0 m=545, FV0=0
_— 28. 75 4
01 - ME : —o— ME —o— ME - ME
26. 75 28, 50 -
98 - 25.0 26.507 28.25 -
26. 25
28.00
26 - 24.5 1 26. 00
27.75
25. 75
24 - 24.0 27. 50 1
25. 50
T T T T T T T T T T T T
600 800 1000 460 465 470 495 500 505 545 550 555
m=595,m FV0=0 m=645,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
29. 25 4
—o— ME —o— ME —— ME —— ME
29. 00 29. 25
29.0 - 29.0 - i
08 75 29. 00
28. 50 28. 75
28.5 - 28.5 -
08, 25 28. 50
28. 00 4 28. 25
28. 28.0 -
27 75 - 28.00
T T T T T T T T T
600 605 650 655 695 700 705 740 745
m=770,m FV0=0 m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0
30. 0 -
—— M_E 30.0 4 —— M_E 30.0 —— M_E —— M_E
29.5 -
29.5 -
29.5 - 29.5 -
29.0 -
29.0 -
29.0 - 29.0 -
28.5 -
28.5 -
28.5 - 28.5 -
770 775 780 800 805 810 835 840 845 875 880 885
m=920,m FV0=0 m=965,m FV0=0 m=1020m FV0=0 m
—o— ME —— ME | 29.25- —— ME
29.5 - 29.5 - 42
29. 00
28.75 40 A
29.0 - 29.0 -
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28. 00 - 36 1
—— MW
T T T T T T 27 75 B T T T T T T
920 925 930 965 970 975 1020 1025 1030 600 800 1000
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